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Al.

a. ZwoTo
B. ZwoTd
y. Aabog
0. ZwoTo
€. Nabog
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©OEMA B

B1.

a) 1,2,3,4,5,6

B)

for x in range(6):
print x+1

B2.

ok =

B3.

a) True
B) False
y) False

OEMAT

def TYPOS_EMB(x):

if x <= 50:
tupos =1
elif x <= 60:
tupos = 2
elif x <= 70:
tupos = 3
else:
tupos = 4
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return tupos

maxi = 0
pl=0
pl_gun =0
age = int(input('Awoe nAikia: "))
while age >= 40:
fulo = raw_input('Awoe gUAo: ')
while fulo !="A" and fulo !'="T"
fulo = raw_input('Awoe ¢pUAo: ")
amka = raw_input('Awoe Tov A.M.K.A: ")
tupos = TYPOS_EMB(age)
print 'Tia Tov AMKA:', amka, 'o TUnoc Tou gupoAiou €ivarl', tupos
if age > maxi:
maxi = age
maxamka = amka
maxfulo = fulo

if fulo == "T"
pl_gun +=1
pl+=1

age = int(input('Awoe nAikia: "))
print '"AMKA kai gUAo We peyioTn nAikia:', maxamka, maxfulo
print 'MooooTo yuvaikwv:', pl_gun/float(pl)*100, '%'

©OEMA A
OMADES =[]
BATHMOI =[]

for i in range(100):
om = raw_input('Awoe opada:")
b = int(input('Awoe Babuo:'))
OMADES.append(om)
BATHMOI.append(b)
PROK =[]
BATHPROK =[]
for i in range(100):
if BATHMOI[i] > 150:
PROK.append(OMADES]i])
BATHPROK.append(BATHMOI[i])
N = len(BATHPROK)
foriin range (N-1):
for jin range(N-1, i, -1):
if BATHPROK([j-1]< BATHPROK([j]:
BATHPROK([j-1], BATHPROK]j] = BATHPROK[j], BATHPROK([j-1]
PROK(j-1], PROK[j] = PROK[j], PROK[j-1]
elif BATHPROK([j-1]== BATHPROK([j]:
if PROK[j-1] > PROK[j]:
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PROK[j-1], PROK[j] = PROK[j], PROK[j-1]
pl =0
for i in range(N):
if BATHPROK[i] == BATHPROK[O]:
pl+=1
print pl

EmpéAeia:
KAMMOZ MNANAINQTHZ, BAPAAKASTANHZ MEPAZIMOZ, KOYTZOYKHZ NIKOZ

kai Ta kévrpa AIAKPOTHMA: Meipaid, Kepataivi, AlyaAew, ANIog TpaxwVeg,
KaA\iBga, HpakAeio Kprtng



